
Weld Table (1,85m) w/no holes and extension legs (eight M8 holes to attach the plate) Updated: 2022-11-03

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Module

2 Beam 70. 1850 6,22 12,4 1022 2043 2554 817 1634 2043

4 Crossbeam 70. 550 1,98 7,9 747 2988 3735 598 2390 2988

4 Leg 700 1,6 6,4 614 2457 3071 491 1966 2457

4 Leg extension 200 0,94 3,8 413 1652 2066 330 1322 1652

2 Crossbar 600 0,56 1,1 200 401 501 160 320 401

6 Diagonal 742 0,67 4,0 194 1161 1451 155 929 1161

4 Beam U-reinforcement 60. 30 0,09 0,4 160 639 799 128 511 639

4 Foot 0,06 0,2 89 357 446 71 286 357

1 Plate 5mm. 650x1850, w/no holes 46,4 46,4 13968 13968 17460 11174 11174 13968

100 Bolt w/ flange, M8 x 12 0,01 1,0 2,68 268 335 2,68 268 335

20 Nut w/ flange, M8 0,01 0,2 1,81 36 45 1,81 36 45

Subject to possible changes 83,9 Total: 25970 32462 Total: 20837 26046

Weld Table (1,25m) w/no holes and extension legs (eight M8 holes to attach the plate)

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Module

2 Beam 70. 1250 6,22 12,4 752 1503 1879 601 1202 1503

3 Crossbeam 70. 550 1,98 5,9 747 2241 2801 598 1793 2241

4 Leg 700 1,60 6,4 614 2457 3071 491 1966 2457

4 Leg extension 200 0,94 3,8 413 1652 2066 330 1322 1652

2 Crossbar 600 0,56 1,1 200 401 501 160 320 401

6 Diagonal 742 0,67 4,0 194 1161 1451 155 929 1161

2 Beam U-reinforcement 60. 30 0,09 0,2 160 320 399 128 256 320

4 Foot 0,06 0,2 89 357 446 71 286 357

1 Plate 5mm. 650x1250, w/no holes 31,4 31,4 9654 9654 12068 7723 7723 9654

100 Bolt w/ flange, M8 x 12 0,01 1,0 2,68 268 335 2,68 268 335

20 Nut w/ flange, M8 0,01 0,2 1,81 36 45 1,81 36 45

Subject to possible changes 66,7 Total: 20050 25062 Total: 16101 20126

Weld Table (0,65m) w/ no holes and extension legs (four M8 holes to attach the plate)

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Module

2 Beam 70. 650 6,22 12,4 551 1103 1378 441 882 1103

2 Crossbeam 70. 550 1,98 4,0 747 1494 1868 598 1195 1494

4 Leg 700 1,60 6,4 614 2457 3071 491 1966 2457

4 Leg extension 200 0,94 3,8 413 1652 2066 330 1322 1652

2 Crossbar 600 0,56 1,1 200 401 501 160 320 401

6 Diagonal 742 0,67 4,0 194 1161 1451 155 929 1161

4 Foot 0,06 0,2 89 357 446 71 286 357

1 Plate 5mm. 650x650, w/no holes 16,3 16,3 5304 5304 6630 4243 4243 5304

100 Bolt w/ flange, M8 x 12 0,01 1,0 2,68 268 335 2,68 268 335

20 Nut w/ flange, M8 0,01 0,2 1,81 36 45 1,81 36 45

Subject to possible changes 49,5 Total: 14233 17791 Total: 11447 14309

* Discounted price is when you buy a kit.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

Weight List price, Sek Discounted price. 20%

Weight List price, Sek Discounted price. 20%

Weight List price, Sek Discounted price. 20%


